
1. The signal x(t) = 5sin(15t – 60o) + 2sin(7t)  is periodic in  
 

A.  π 
B. 15/7  
C. 15π 
D. 2π 

 

 
2. What is the function of the TTL gate shown below 

 
A.   (𝐴̅. 𝐵) + (𝐶̅. 𝐷) 
 

B.   (𝑨̅. 𝑩) + (𝑪̅. 𝑫)̅̅ ̅̅ ̅̅ ̅̅ ̅̅ ̅̅ ̅̅ ̅̅ ̅̅ ̅ 
 
C.   (𝐴. 𝐵̅) + (𝐶. 𝐷̅) 
 

D.   (𝐴. 𝐵̅) + (𝐶. 𝐷̅)̅̅ ̅̅ ̅̅ ̅̅ ̅̅ ̅̅ ̅̅ ̅̅ ̅̅ ̅ 
 

 

3. For the R-2R ladder shown below. What is the output voltage ? (check the state 
of the switches) 
 

 
 
 
 
 
 
 
 

A.   2.500𝑉 
B.   0.3125𝑉 
C.   𝟏. 𝟓𝟔𝟐𝟓𝑽 
D.   3.1250𝑉 

 


